Modelling of density dependent predation success and variable efficacy of baiting program

PF=(1-R x 0.148)(N/K)
PS=(1-R x 0.45)(N/K)
PF and PS are the proportion of fecundity and survival for time-unit, respectively (i.e. the baseline values are multiplied by PF and PS). R is a random number drawn from a uniform distribution (between zero and one) in VORTEX. Note that R is implemented as population state variable. In this way, both PF and PS obtain the same random number but it differs for each time-unit and iteration. N is the population size and K the carrying capacity.


